Precalculus

Polar Review
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Find the other 3 polar coordinates that represent the same point for —360° < 6 < 360°.
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Graph each polar equation. Then convert the equation to rectangular form.
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Convert the following polar equations into rectangular equations so that you can graph them.

22. r =3sech ) 23. r=—5csch o =




26. r =4sing 27. r=—6cosf
C* =4rsine vrz =l reos®
2 .
‘n%__ﬂ* i_:u'ﬂ . __ X+ ‘j?' = ~(aX
X“+ e = : :
3 L’*S___o_ Civele 1x’1+xﬁ""+ X = oj Civele
28. r=5cos@ 29. r—:Z“s‘z:;w“”
"7 =Srcosg =28 nO
)( qu = Ei)( }(zqhﬁj - - 2-&5

ijL +—tl:'.-fs;2:;;§E} CZiV“ClC:

XEry*r2y=0| (irde

Convert each of the following polar equations to rectangular form (standard conic form). Classify the

conic.
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~ Convert each of the following rectangular equations to polar form.
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